
L2(17).2 (mod 2)

blocks defect matrix

2.G : 1 6 20× 2
2 2 4× 1
3 2 4× 1
4 2 4× 1
5 2 4× 1

Block 1: ϕ1,0 ϕ2+

11 = χ1,0 1 .
12 = χ1,1 1 .
181 = χ2+ 2 1
171 = χ8,0 1 1
172 = χ8,1 1 1
182 = χ9,0 2 1
183 = χ9,1 2 1
184 = χ10,0 2 1
185 = χ10,1 2 1
186 = χ11,0 2 1
187 = χ11,1 2 1

169 = χ12+ . 1
188 = χ18,0 2 1
189 = χ18,1 2 1
1810 = χ19,0 2 1
1811 = χ19,1 2 1
1812 = χ20,0 2 1
1813 = χ20,1 2 1
1814 = χ21,0 2 1
1815 = χ21,1 2 1

ϕ1,0 = 11
ϕ2+ = 161

Block 2: ϕ4,0

161 = χ4,0 1
162 = χ4,1 1

1610 = χ14,0 1
1611 = χ14,1 1

ϕ4,0 = 162



Block 3: ϕ5,0

163 = χ5,0 1
164 = χ5,1 1

1612 = χ15,0 1
1613 = χ15,1 1

ϕ5,0 = 163

Block 4: ϕ6,0

165 = χ6,0 1
166 = χ6,1 1

1614 = χ16,0 1
1615 = χ16,1 1

ϕ6,0 = 164

Block 5: ϕ7,0

167 = χ7,0 1
168 = χ7,1 1

1616 = χ17,0 1
1617 = χ17,1 1

ϕ7,0 = 165


